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(Marks : 16)

Choose the correct answer.

Each question carries 1 Mark.

1. Example of a metabolic antitranspirant is —

(A) Phenyl mercuric acetate

(B) Low viscosity wax

(C) Silicon emulsion

(D) Colourless plastics

1. ~„þ!Ýþ ö›Ýþyî!œ„þ xÄy!rÝþÝþÆyª!þ™öìîûöìrÝþîû vþz”y£îû’ £öìœy éôôôé

(A) !šþ˜y£zœ ›yîû!„þvþz!îû„þ xÄy!¢öìÝþÝþ

(B) „þ› ¢yw“þyîû ö›y›

(C) !¢!œ„þ˜ £z›yœ¢˜

(D) î’Å£#˜ ²Õy!ÞÝþ„þ

2. If a plant cell is placed in a hypertonic solution, _____ takes place.

(A) Endosmosis

(B) Plasmolysis

(C) Deplasmolysis

(D) No movement of solvent molecules
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2. ë!” ~„þ!Ýþ vþz!q” ö„þy¡ì ~„þ!Ýþ £y£zþ™yîûöìÝþy!˜„þ oîöì’ ßþiyþ™˜ „þîûy £ëû–  ‡öìÝþÐé

(A) ~öìuþy¢öì›y!¢¢

(B) ²Õy‹öì›yœy£z!¢¢

(C) !vþ²Õy‹öì›yœy£z!¢¢

(D) oyî„þ x’% ‰þœy‰þœ „þöìîû ˜y

3. Hormone involved in phototropism is —

(A) IAA

(B) Kinetin

(C) Gibberellin

(D) 2, 4-D

3. šþöìÝþyÝþÆ!þ™‹öì›îû ¢yöìí ‹!vþü“þ £îûöì›y˜ £öìœy éôôôé

(A) IAA

(B) „þy£zöì̃ !Ýþ˜

(C) !‹öìî¹öìîû!œ˜

(D) 2– 4-D

4. Connecting link between glycolysis and TCA cycle is —

(A) Pyruvate

(B) Succinate

(C) Fumarate

(D) Acetyl CoA

4. @Õy£zöì„þyœy£z!¢¢ ~î‚ TCA ‰þöìe«îû ›öì•Ä ¢‚öìëy†„þyîû# ¢‚öìëy† £öìœy éôôôé

(A) þ™y£zîû&öì¦þÝþ

(B) ¢y„þ!¢öì̃ Ýþ

(C) !šþvþz›yöìîûÝþ

(D) xÄy!¢Ýþy£zœ CoA
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5. In non-cyclic photophosphorylation, the immediate source of electron to P
700

 is —

(A) PC

(B) Cyt. f

(C) Fd

(D) PQ

5. ˜ é̃ôé¢y£z!„Ïþ„þ šþöìÝþyšþ¢öìšþy!îûöìœŸöì̃ – P
700

 £zöìœQÉöì̃ îû “þyêÇþ!’„þ vþzê¢ £öìœy éôôôé

(A) PC

(B) Cyt. f

(C) Fd

(D) PQ

6. Substrate for photorespiration is —

(A) Serine

(B) Glycolate

(C) IAA

(D) Malic acid

6. xyöìœy„þÙ»¢öì̃ îû ‹˜Ä ¢yîöìßþTÉÝþ £öìœy éôôôé

(A) ö¢!îû̃

(B) @Õy£zöì„þyöìœÝþ

(C) IAA

(D) ›Äy!œ„þ xÄy!¢vþ

7. The hormone which prevents seed dormancy is —

(A) Cytokinins

(B) Auxin

(C) Gibberellins

(D) Ethylene

7. öë £îûöì›y˜!Ýþ î#öì‹îû ¢%®“þy ²Ì!“þöìîûy• „þöìîû “þy £öìœy éôôôé

(A) ¢y£zöìÝþy!„þ!˜˜

(B) x!:˜

(C) !‹öìî¹öìîû!œ˜

(D) £z!í!œ˜
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8. Which of the following is known as “stress hormone”?

(A) IAA

(B) ABA

(C) Gibberellins

(D) Ethylene

8. ˜#öì‰þîû ö„þy˜!Ýþ òòößþTÉ¢ £îûöì›y˜óó ˜yöì› þ™!îû!‰þ“þ éôôôé

(A) IAA

(B) ABA

(C) !‹öìî¹öìîû!œ˜

(D) £z!í!œ˜

9. Diosgenin is obtained from —

(A) Rauwolfia serpentina

(B) Digitalis purpurea

(C) Dioscorea composita

(D) Cinchona officinalis

9. vþyöìëûy¢öì‹!˜˜ þ™yçëûy ëyëû éôôôé

(A) Rauwolfia serpentina

(B) Digitalis purpurea

(C) Dioscorea composita

(D) Cinchona officinalis

10. Which of the following pigment is involved in red-far red light interconversion ?

(A) Cytochrome

(B) Lycopene

(C) Phytochrome

(D) Xanthophyll

10. ˜#öì‰þîû ö„þy˜ îûO„þ!Ýþ œyœéôé”)îû œyœ xyöìœyîû xyhsþƒîû*þ™yhsþöìîû ‹!vþü“þ Úé

(A) ¢y£zöìÝþyöìe«y›

(B) œy£zöì„þy!þ™˜

(C) šþy£zöìÝþyöìe«y›

(D) ‹Äyöìsþiy!šþœ
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11. Which of the following amino acids is also called imino acid ?

(A) Alanine

(B) Glycine

(C) Proline

(D) Serine

11. ˜#öì‰þîû ö„þy˜ xÄy!›öì̃ y xÄy!¢vþöì„þ £z!›öì̃ y xÄy!¢vþç îœy £ëû éôôôé

(A) xÄyœy˜y£z̃

(B) @Õy£z!¢˜

(C) ö²Ìy!œ˜

(D) ö¢!îû̃

12. Which of the following is an example of unsaturated fatty acid ?

(A) Lauric acid

(B) Oleic acid

(C) Palmitic acid

(D) Myristic acid

12. ˜#öì‰þîû ö„þy˜!Ýþ x¢Á™,_« šþÄy!Ýþ xÄy!¢öìvþîû vþz”y£îû’ Ú

(A) œyvþz!îû„þ xÄy!¢vþ

(B) çöìœ£z„þ xÄy!¢vþ

(C) þ™y!›!Ýþ„þ xÄy!¢vþ

(D) !›!îû!ÞÝþ„þ xÄy!¢vþ

13. Coenzymes that are tightly associated with the protein are called —

(A) Prosthetic group

(B) Apoenzyme

(C) Holoenzyme

(D) Cofactor
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13. ö²Ìy!Ýþöì̃ îû ¢yöìí Ÿ_«¦þyöìî ë%_« ö„þy~˜‹y£z›=!œöì„þ îœy £ëû éôôôé

(A) ²Ìöìßþi!Ýþ„þ @ùÌ&þ™

(B) ~öìþ™y~˜‹y£z›

(C) ö£yöìœy~˜‹y£z›

(D) ö„þyšþÄyQîû

14. Conversion of ammonium ion to nitrite and nitrate is called —

(A) Nitrogen fixation

(B) Nitrification

(C) Denitrification

(D) Ammonification

14. xÄyöì›y!˜ëûy› xyëû̃ öì„þ ˜y£zÝþÆy£zÝþ ç ˜y£zöìÝþÆöìÝþ îû*þ™yhsþîû„þîû’öì„þ îöìœ éôôôé

(A) ˜y£zöìÝþÆyöì‹˜ !ßþiîû„þîû’

(B) ˜y£z!ÝþÆ!šþöì„þŸ˜

(C) !vþ˜y£z!ÝþÆ!šþöì„þŸ˜

(D) xÄyöì›y!˜!šþöì„þŸ˜

15. CO
2
 fixation in bundle sheath cells occurs in —

(A) C
4
 plants

(B) C
3
 plants

(C) CAM

(D) All of these

15. îy!uþœ Ÿ#í ö„þyöì¡ì CO
2 
xyîkþ„þîû’ ‡öìÝþ éôôôé

(A) C
4 

vþz!qöì”

(B) C
3 

vþz!qöì”

(C) CAM
 
 vþz!qöì”

(D) vþzþ™öìîûîû ¢î„þ!Ýþöì“þ£z
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16. ________ is a Short-Day-Plant.

(A) Henbane (Hyoscyamus niger)

(B) Maryland Mammoth variety of Nicotiana tabacum

(C) Carnation (Dianthus sp.)

(D) Oat (Avena sativa)

16.  ~„þ!Ýþ öŠéyÝþéôé!”öì̃ îû vþz!q”Ðé

(A) ö£˜öìî˜

(B)
 
ö›!îûœÄyuþ ›Äy›í ‹yöì“þîû Nicotiana tabacum

(C) „þyöì̃ ÅŸ˜ (Dianthus sp.)

(D) çÝþ

——————
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Paper Code : V - B

(Marks : 34)

The figures in the margin indicate full marks.
Candidates are required to give their answers

in their own words as far as practicable.

Group - A

1. Answer any one of the following questions : 9×1= 9

(i) What is the Warburg effect? Discuss the mechanism of photorespiration with a
suitable diagram.Write down the significance of this process. 2+5+2

(ii) Define seed dormancy? Explain its main causes. Describe the methods forbreaking
seed dormancy. 2+3+4

2. Answer any two of the following : 4×2=8

(i) How do proton transport and K+ influx regulate stomatal movement? Discuss.

(ii) Distinguish between action spectra and absorption spectra. 4

(iii) What is critical day length? State the difference between Photoperiodism and
Vernalization. 2+2

(iv) Discuss the role of ethylene on fruit ripening. 4

Group - B

3. Answer any one of the following : 9×1=9

(i) Define enzyme inhibition? Explain the types of reversible modes of enzyme inhibition.
2+7

(ii) Classify carbohydrates based on their carbon number and functional groups with
representative examples.

4. Answer any two of the following : 4×2=8

(i) Name the drugs with source plant and plant parts used against: 2+2

(a) Hypertension

(b) Malaria

(ii) Write down the source, chemical nature, and uses of any one of the following :
1+1+2

(a) Catechin

(b) Digitoxin

(iii) What is R.Q.? State its significance. 1+3

(iv) Compare between covalent and ionic bonds.
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îDy˜%îy”

!î¦þy† éôé „þ

1. ˜#öì‰þîû öë ö„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 9×1=9

(i) Warburg ²Ì¦þyî !„þ Ú vþzþ™ë%_« !‰þe¢£ xyöìœy„þ Ù»¢˜ ²Ì!e«ëûy xyöìœy‰þ˜y „þöìîûyÐ ~£z ²Ì!e«ëûyîû “þyêþ™ëÅ
öœöì…yÐ 2+5+2=9

(ii) î#öì‹îû ¢%®“þy !„þ Ú ~îû ²Ì•y˜ „þyîû’=öìœy îÄy…Äy „þöìîûyÐ î#öì‹îû ¢%®“þy ¦þD„þyîû# þ™kþ!“þ=!œ îÄy…Äy
„þöìîûyÐ 2+3+4=9

2Ð ˜#öì‰þîû öë ö„þyöì̃ y ”%ó!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 4×2=8

(i) „þ#¦þyöìî ö²ÌyÝþ˜ þ™!îûî£’ ~î‚ Kéôé£z̃ šÏþy: þ™eîûõÉþ vþzöì§Ãy‰þ˜ ~î‚ îõþ £çëûy !˜ëûsþf’ „þöìîû– xyöìœy‰þ˜y
„þöìîûyÐ 4

(ii) „þyëÅ„þîû# î’Åyœ# ~î‚ öŸy¡ì’ î’Åyœ#îû ›öì•Ä þ™yíÅ„þÄ „þöìîûyÐ 4

(iii) ¢‚„þÝþ !”îyéôé÷ì”‡ÅÄ !„þ Ú xyöìœy„þþ™ëÅyëûî,!_ ~î‚ îy¢!hsþ„þîûöì’îû ›öì•Ä þ™yíÅ„þÄ öœöì…yÐ 2+2

(iv) šþœ þ™y„þyöì“þ £z!í!œöì̃ îû ¦)þ!›„þy xyöìœy‰þ˜y „þöìîûyÐ 4

!î¦þy† éôé …

3Ð ˜#öì‰þîû öë ö„þyöì̃ y ~„þ!Ýþþ ²ÌöìÙÀîû vþz_îû ”yç ­ 9×1=9

(i) vþzêöì¢‰þ„þ ²Ì!“þöìîûy•„þ îœöì“þ „þ# öîyöìGþy Ú !î!¦þ§¬ ²Ì„þyîû þ™!îûî“Åþ˜#ëû vþzêöì¢‰þ„þ ²Ì!“þöìîûy•„þ îÄy…Äy ”yç Ú
2+7=9

(ii) vþz”y£îû’¢£ „þyîÅ̃  ¢‚…Äy ~î‚ „þyëÅ„þîû# ö†yÛþ#îû vþzþ™îû !¦þ!_ „þöìîû „þyöìîÅy£y£zöìvÈþöìÝþîû ö×’#!î¦þy† ~„þ!Ýþ
¢‚!Çþ® !îîîû’ öœöì…yÐ

4Ð ˜#öì‰þîû öë ö„þyöì̃ y ”%ó!Ýþþ ²ÌöìÙÀîû vþz_îû ”yç ­ 4×2=8

(i) vþzê¢ vþz!q” ~î‚ vþz!qöì”îû x‚Ÿ¢£ ç¡ì%öì•îû ˜y› ”yç öë=!œ !˜öìÁ¬y_« öîûyöì†îû !îîû&öìkþ îÄî£yîû „þîûy
öëöì“þ þ™yöìîû ­ 2+2=4

SxV vþzF‰þ îû_«‰þyþ™

SxyV ›Äyöìœ!îûëûy

(ii) !˜Á¬!œ!…“þ öë ö„þyöì̃ y ~„þ!Ýþîû vþzê¢– îûy¢yëû!˜„þ ²Ì„,þ!“þ ~î‚ îÄî£yîû öœöì…y ­ 1+1+2=4

SxV „þÄyöìÝþ!‰þ˜

SxyV !vþ!‹Ýþ!:˜

(iii) R.Q. „þ# Ú ~îû “þyêþ™ëÅ î’Å̃ y „þöìîûyÐ 1+3=4

(iv) ¢›öìëy‹# ~î‚ xyëû!˜„þ îõþöì̃ îû ›öì•Ä “%þœ˜y „þöìîûyÐ 2+2=4

————————


